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Circle your problem solving section:

Section1: M @8:00 Section2: M @ 9:00 Section3: M @ 11:00

Answer table for Part I

# of correct answers : Grade of Part I
# of wrong answers : 30%

Grade of Part IT Final Grade
- 2 S 4. 5. 70%




Part1 (30%) 10 multiple choices with 3 points for each correct answer and -0.5 penalty on each

wrong answer.

Circle the correct answer then, copy your answers as a, b, ¢ or d on the table provided on page 1:

1. The graph of the function is the graph of F(x)=+/x+1 =3 is the graph of f(x)=+/x

Shifted :
a. 1 unit to the right and 3 units down b. 1 unit to the left and 3 units down
c. 1 unit to the right and 3 units up d. 1 unit to the left and 3 units up

2. Let f(x)= 3/x +1 and g(x)= x23—1 then domain of [1)()0:

g
a. (1;+o0) b. [0;1]U[15400)
c. [L+w) d. [0;1)u(154e0)
x2
3. Therange of f(x)=3+ 5 is
x*+
a. [3,4) b. (—o0,3) c. (3,40) d. (3,4)
5% -2x7 +3x+7
4. lim . =
=0 -2x" —6x-5
a. /i b. c.0 d. =
5 2

5. The function J(x) = xsinx is:

a. a polynomial b. an even function c. a cubic function

d. an odd function




6.

The function f(x) is represented graphically as:

f(x) is not continuous at x = 2 because :
a lin% fx)=12) b. lin; f(x) doesn’t exist

c. it is not defined at 2 d f@)=1

i fi(e) = Jx and g(x)= % then: (Answer questions 7and 8 )
x —

7. fog(l0)=
a. 3 b. 9 c. 1 d. 1
3 9
8. the domain of the function g ° f (x) is:
a. [0,1)u(1;4w) b. (0,1]u[1;4)
c. [L+0) d. (1;+w0)
9. If tanle i xe[ﬂ' ,3—711 then S€CX=
2 2
2 V5 J5 2
a. — b, —— c. — d. ——=
V5 2 9 S5

10.

The equation of the axis of symmetry of the parabola y = x> —6x—7 is

g, %E=3 b. x=-3 & xmT d x=-1




Part II ( 70%) Answer each of the following questions. Explain and show your work

1. a) Express the given in terms cosx and sinx

—=-Xx)+ +— =
(4%) os( x) +sin(x )
— COS 005’)(_ -+ S\/q'é?l/sm% —+ TN, Lyf/.,. L SX j/ﬂ/'
1
= — Spx 4+ Cosn
b) Show that:l—_cosx— sl
sinx  1+4+cosx
.2
4"" o SX _ S\an —- C' '&SXB(\‘FC&XB "5’1‘) %"
4% \ —— -
(4%) Sym )+ WS x Siax. (4+tosx)
_ (4= cc:s'lx) — S
Siax (4 4 (osx)
St —DIA X = O
: ——_/’
Sinw (4 +C°S><)
c¢) Show that coszx=—;—(l+0052x) and then find the value of cos? 2
v 2
Cos ot + D =|
(4%)

T cogta — sidn = 053N

a Cbsz'l— —_ /‘ +CO$DJ(

Core = j§. € + Cosax)

¥ cos?X = 4 (1+wsal)
2 o ‘2z /-




(7%)

2. Sketch the graph of the functions f(x) =

1

x+2
x+1

\/;+3

if x<=-2

if-2<x<0
if x20




3. Assume that for all values of x near 0 the function S (x) satisfies:
(8%) cot4xsin2x < f(x)< sin(% (sin(x + -7-27-))

Use the sandwich theorem to find %E}g f(x)
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4. For each of the following find the limit (if it exists)

x’ +4x-5 0 v
a) | ey sule
x—=5 xz +5x /.\:\;;O \ N rad § (\ C\ i)
o Z
(4%) Qam C%‘F‘j\('i-'); Bim ne-) ==-5-1 _| 6
%x>=5 M Q}/f{f) Q x>-5 N -5 5
Mo |
b 2 sin(x - 2) _ QA - Sin (“N»"")_‘ @;
x——> x°-5x+6 x—32 (,x—_-b)‘(»x-'S) U
R
an xX—1 e b ’ N
- —o 4 4 = F—Tl(}\
- 2-%5
sin 2x
c) xl_,o sin 3x Q /b\ i @\Z‘
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(5%)

o X206 sin?x

_ o
lim \/-5_—\/§cosx = QM'\\ @g—-‘F;CbSX} (V_é +V5~ wsx)‘

<\;—;""V§ Cch>

— Q" m 55 cos W %
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[
3-5x if -1<x<0
x> if 0<x<2
S. consider the function f(x) = ¢
3
ad "2"‘ if 2<x<5
(15 %) -
5 if x=2

a) For what values of x is f(x) continuous ?(write the answer in interval form)
b) If f(x) is not continuous at an interior point ¢ determine whether discontinuity at ¢ is

removable, if not find the continuous extension of S atx=c if possible? (Explain)
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'—?(x) s not  cont at  x= 2.
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